CALCULUSBC
WORKSHEET 3ON LIMITS

Find the limit. Draw a sketch for each problem . Do not use your calculator.

1 lim % = 2. lim—t_ =
x> x-1 x>lx—1
3. lim-— = 4 lim-t =
x—>—3(x+3) x5 5-X
5 lim— > = 6. lim-——~ =
X—5 (5 X) X_)Z(X—Z)
x-3 _ - _
7 XI—% X—3_ 8 !(I—%DX-'_]D_
3 3
. X'|X=2 . XTUX—
0. I|mM= 10. ImM:
X2t xX-2 =>4 X-4
2 -
-1if x<2
11, f(x)={" "7
X=2if x>2
o Jip 109
0 Jim, 14-
) I 1(-
12, |im(x—3—ij:
x— 3" X—3
x-3if x#1
13. g(x) = limg(x)=
904 {4if x=1 ima(
x+3if x<1
14.h(x)=1_, .. limh(x) =
3x“+1if x>1 x—>1
15. lim_ tanx= 16. lim secx=
X—>% x—>—%
17. lim cscx= 18. lim cotx =
x> X— 0~

TURN--->>>



On problems 19 - 24.
(@) find )!l_)ngof(x)
(b) find xl_lmo f (x)

(c) identify all horizontal asymptotes.
Use your graphing calculator on problems 23 and 24.
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On problems 25 - 28,
(a) find the vertical asymptotesof f ()

(b) describe the behavior of f (x) to theleft and right of each vertical asymptote.
Use your calculator on problems 25 - 27.
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